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12 | e # 40 11 81 8.4 72. b
13 188 BIE 50 49 a9 26. 4 72.6
14 AR BEe 38 40 78 4 8 73.2
16 BEMDEET L4 42 42 84 10. 8 73.2
16 |FBRAHET 45 44 89 15. 6 73. 4
17 |RIE 8F 45 44 89 15. 6 73.4
18 |HRZE R ET 46 44 85 21.6 73.4
19 |l E¥EsE 47 39 3 7.2 73. 8
20 | KiF X 45 42 87 13. 2 73.8
21 [IhRERE 44 44 93 19. 2 73.8
22 | =EH EE 42 44 36 12. 0 74.0
23 |#HE = 54 44 98 24.0 74.0
4 |ty B 40 45 85 10. 8 74. 2
25 | BEF 45 46 91 16. 8 74. 2
26 |@JIEE 42 42 34 9.6 74. 4
27 |Aam #A 53 48 101 26. 4 74. 6
28 |HA EBER 40 42 82 7.2 74. 8
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40 [BRRIE= 49 47 96 19. 2 76. 8
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43 |EEE= 47 48 95 18. 0 7.0
44 [TH & 42 43 85 7.2 77. 8
45 |BHE AFE 53 50 103 292 77. 8
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50 |{EEERT 47 44 N 12. 0 79.0
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51 [AKtm==A b1 .49 100 20. 4 79.6

2 1&TF Eml 57 49 106 26. 4 79. 6

53 [#2R R 56 48 104 24.0 |- 80.0

54 |IVAE= 46 45 91 10. 8 80. 2

55 [ MER EF 56 59 115 34. 8 80. 2

56 (BRHEHIET 54 42 96 15. 6 80.4

57 |[#HEF 49 44 93 12.0 81.0
8=k 2 49 48 97 15. 6 81. 4

59 |hPE EN 49 54 103 21.6 81.4

60 [LLWFEE) 53 48 101 19. 2 81.8

61 |FERF 50 48 98 15. 6 82. 4

62 |[EPRE 45 53 93 14. 4 83.6

63 Y FH=E 61 64 125 36.0 8%. 0

64 |BRk BE 65 65 130 36.0 94. 0
b5 |BAR HEE 65 65 130 36.0 94, 0
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